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Topic:- Child Development & Pedagogy (CDP)

1) “Individuals are born without built-in mental content, and therefore all knowledge comes from

experience or perception.” This notion is referred to as ./ vofad faar foesdt Gﬁﬁ%ﬂ
RIS TS0l & UaT 81d &, 3NT Safere Jl I Sya a1 YIRom & 3md 17 59 ¥Ron
G| & ¥U § "efild far s g1

1. Tabula nota / HTGH AT (el =Aler)

2. Tabula rasa / ATHHA Fa-Reufa (eIt Ir4T)
3. Tabula primus / ATYHA Tieell (AT TTSHH)

4. Tabula novus / ATYHA Al d (el Hterd)

Correct Answer :-
« Tabula rasa / ATHHA FA:TEAfA (eIr I14T)

2) All learning is by-and-large successful when it is / Tt SrftRTH IrHT=: Pd 1B IGE
Ihd gid § o o wmar 21

1. Resource rich / GATYT TUeed
2. Self-directed by the learners / freTiorat aRT W-m
3. Technology led / GTITEhY AT ﬁ?‘j(‘a

4. Teacher led / T&TeR T ?I?]_RT

Correct Answer :-

o Self-directed by the learners / TI&TTIT gRT Ta-fAERAa

3) Which of the following is the technique of classroom management where a student displaying
negative behavior is separated from the rest of the class? / ﬁ'ﬁﬁ'@ﬂ' s | ﬁq-'\‘ﬁ DT UdUd
B dPIP ¢ T8l TPRIHAD HATR USRI B ITAT TP BT AT H&T A (T g1 STl 82

1. Satiation technique / Tj@ dhellch



2. Extinction technique / TRAATE Theileh

3. Corporal punishment / QTRIR® &3

4. Time out technique / HHI HHTH cIcheilch

Correct Answer :-

o Time out technique / HI HHTH cIcheilch

4) Which of the following is not true about the demonstration method of teaching? / m s

¥ o Reor & sifirafea (AT $ IR & g T8 22

1. The focus is on the demonstration of concepts through experiments/activities / 3TAYROT3 Pl

ue 2T U/ fhaTehelTdt U Shigd &ram &l

2. It can be used for a multicultural classroom /Wwagﬂﬁiﬁiaiﬁ heTT o Torw fopar S
T

3. The learners gets an opportunity to participate / fﬂmfﬁa’ra#rmﬁaaﬁaﬁrw 37T fHerdar
el

4. All the topics can be covered by this method / 38 faf& gRT @Y fawi & e fopaT ST Thar &

Correct Answer :-

« All the topics can be covered by this method / 38 TS gRT T8 fawat &bl ax TohaT ST ThdT &

5) A 20 year old girl’s mental age is 12 years. Find her IQ. / TP 20 ITd @t ?I@ﬁﬁ CAR BTG

I 12 I g1 S9! gfsafsy Fefer|
1. 100
2. 125
3. 60

4. 65

Correct Answer :-

6) The condition wherein an individual loses awareness and flees his own identity is known

as___./ 9g fufa od #15 sufed SITReoar | 3a1 @ 3R 3u-l ¥9d 31 ugar &)
VIS AR, & U H FHE Aral 21

1. Shock / ATITd



2. Repression / GH
3. Trauma / 3TTHETT

4. Fugues / ®aT

Correct Answer :-

 Fugues / ®JT

7) The way a person presents any information in his/her brain is an example of his/her. / o GEE)

ﬁﬁm?ﬁﬁwﬁﬁﬁaﬂmﬁwm%,wmﬁﬂm
Jaleul

1. Personal characteristics / G GTﬁ-IFT&I'UT
2. Cognitive characteristics / G<llcH® 3fRT&TOT
3. Emotional characteristics/ﬂ'l_cl'C[U‘f AfAreTor

4. Academic characteristics /fQTaTUT 3rfAereror

Correct Answer :-

* Cognitive characteristics / Gl 3TTRI&TOT

8) The father of Intelligence tests is . / §fx URIEUT & S-P gl
1. Francis Galton / WIf&Ig MTeed

2. James Cattell / S5 ol

3. Alfred Binet / 37e%hs faad

4. Karl Pearson / ol TOTTT

Correct Answer :-

. Alfred Binet / 37e%3 a3

9) GDD is a developmental disability recognized in children who are ./ SirStst U faere

et srgrar g &l T B et 21
1. below 5yrs. 7 5 a§ ¥ oI gTai A
2. age 12-14 yrs. / 12-14 9§ 6T 31g H



3. above Syrs. / 5 a¥ ¥ 37AF & Tear H
4, above 18 yrs. / 18 ¥ ¥ W

Correct Answer :-

e belowSyrs. 7/ 5 a¥ ¥ o It A

10) If the chronological age and the mental age of the child is 15 years. He will be classified into
which category? / If& F=d 1 FragHAF WY IR AGRAF Iy 15§ 71 O 3@ By Aol F
Fafipear T STwen?

1. Superior / 3=
2. Normal intelligence / €T g
3. Genius / UTaHTRITT

4. Below normal intelligence / @AY gig & =

Correct Answer :-

« Normal intelligence / ATHAT g

11) According to Piaget when an infant reaches about 7-9 months of age they begin to develop what he

called /RS & IER, 9 v R qswr 79 7S A 37 aF gggar g, 3
fFRa g oera & O 3% e &

1. Egocentrism/ ST £ irEA\J'J:I

2. Personal fable/ S Tthd Td Chtl-(:l-ld

3. Object permanence/ I I Ricd
4. Inductive reasoning/ JTITHATcHD ab

Correct Answer :-

» Object permanence/ d&q TUlca

12) According to Jean Piaget, cognitive development starts at stage / SileT TS & AR,
HAEATCHE fawra IEEYT W YE g ¢

1. Concrete Operational / Qﬁ-ﬂ‘ Eip) [cHD
2. Preoperational / t[c‘f-?:i fohTcHD
3. Formal Operational / uaie afchaTrcaAs



4. Sensorimotor / FddT UL (FE{AI)

Correct Answer :-

« Sensorimotor / daT UL (FE{AI)

13) According to Jean Piaget, preoperational children are/ SiYeT TOITSt & IR, qﬁ-aﬁwm
HIEYT F T FH T 872

1. Egocentric/ HTcHADIGd (33|mi°‘§as)
2. Flexible/ T (Felfeeerel)
3. Complex/ Sifeer

4. Social / rATTSIHR

Correct Answer :-

» Egocentric/ JTcHbIgd (3a||@io—§as)

14) What concept takes into account an individual’s mental and chronological ages? /

fre safFa i afds 3R FeeERE g Fla-d@ saurer e § @ 82
1. Cognitive quotient / T<TATCD HTITHT

2. Intelligence quotient / W«T

3. Intellectual quotient / S1TGeh Il

4. Functionality quotient / PIATcHDAT HTIThT

Correct Answer :-

 Intelligence quotient / giZaidu

15) What is the term used to denote an unfavorable attitude towards members of a particular ethnic or

religious group? / fardl mwmmaﬁ?wga?ma:uﬁrqﬁ@wﬁﬁﬁa&ﬁ#
& fow form ereg F1 gAer fRam STar 872

1. Prejudice / U&TUTA
2. Racism / ¥eldlq
3. Enmity / QQ?FIF?[

4, Fanaticism / Eﬁaﬁqal



Correct Answer :-

 Prejudice / U&TUTd

16) What type of memory may be involved in carrying out complex mathematical problems? / Sfee

AT FAEET Y QU A A e gwr f Ffa aFafad @ wwd 82
1. Iconic memory / UTAHT FFITeUd THIA (3ShiTAd HANT)

2. Echoic memory / Ufaeafe Ffd (Tisd FHANT)

3. Working memory / Toled THfd (Tfhar FHARY)

4. Sensory memory / Il FHA (HE AART)

Correct Answer :-

« Working memory / Teled FHTA (afeher AY)

17) In big 5 model, personality types are distinguished based on | 93 5 AST H, WiFdea
¥ TFR & IMuR W AR fFe o §

1. Culture personality/ Hi{-f{ﬁaw S fhed
2. Personality traits / bt fafrear

3. Emotional intelligence / HTch gifgerdr
4. Season based/ T ITUTRA

Correct Answer :-

« Personality traits / <TThaTcd TafIEAT

18) In which stage of Piaget’s theory of cognitive development do children develop the concept of
conservation? / ST & HATCAF faF & fAguia & fF@ wXor # T<ai # wW&T0r H
faguia A=l aar

1. Concrete operational stage / 'ﬂ?ff GiehdTcHd Tl
2. Post-formal stage / UrEe-3iuaTies 3raEr

3. Pre-operational stage / ‘:Lé'—{-l IERIGLERCERA)

4. Formal operational stage / 3T giehdTcH® ATl

Correct Answer :-



« Concrete operational stage / 'ﬂ?ff GiehdTcH® Tl

19) Thorndike’s Law of Readiness is also known as: / QTI?"?.'IEEF F doRar & F9H F SH oH g
oY ST ST &

1. Law of Exercise / 3701 &1 fAgaT

2. Law of Effect/ HTd &l [T

3. Law of Action Tendency / T CIT{% a1 A

4, Law of Set or Attitude / §E 3T ?Flc_-ﬁqtf?f CAMEDE

Correct Answer :-

« Law of Action Tendency / &TJ qq% CANEDE

20) Which of these includes unhappiness when defining abnormality? / 3HTHTIAT &1 IRAAT FQ
AT g ¥ frwer argefr anfae @2

1. Danger to self/others/ Tad/31 & INSIGED
2. Deviance/ faaeret

3. Dysfunction / fa&R

4. Distress/ WaT

Correct Answer :-

« Distress/ 4131

21) Which of the following is not an individual difference that affects learning? /

fArfef@a & @ Fia-a1 ve afFaera 3ax A & S 3T Y gy war 82
1.Gender/ﬁ7’T

2. Height / 5dTS
3. Socioeconomic status / Hm'lﬁ?ﬁ-}lﬂzﬁ Tafa
4, Caste / ET%

Correct Answer :-

o Height / _"J"_T-|-|é



22) Which of the following is not a part of working memory? / famfaf@a & 9 sia sl
wfa &1 Rear adt 82

1. Central executive / P PRIBIT ({:Io-gel ’\’CI-{-M-tLIrEd)

2. Phonological loop / TaR-fasra gy uner (BTl o)
3. Episodic buffer / U d T

4, Sensory register / qaer e

Correct Answer :-

» Sensory register / Fder e

23) Benchmark assessment is also known as: / STHTR 3Tl &Y qg oY gl SIldl %’:

1. Summative Assessment / THITTcHD 3TThole]
2. Diagnostic Assessment / IGAGIEERICTC]
3. Interim Assessment / 37T 3Teholel

4. Formative Assessment / fTHATOTICH® 3MThele

Correct Answer :-

« Interim Assessment / 3T 3Tholel

24) In Erikson’s theory, the aspects individuals generally focus on developing during adolescence and

then during young adulthood is called  /UR&HT & ﬁaﬁn?r A, 349 qﬁl’!ﬂ' H AHHAR W
ﬁ:an%Wﬁﬁamﬁwmméﬁaﬁmm%aﬁrﬁwwm#
ghm= FgT ST B

1. identity, basic trust/ UgdTlel, Hel ICEIE:
2. identity, intimacy / U&dTT, AT

3. intimacy, identity / 3-ididldl, Uedld
4. basic trust, identity/ &l LI AYERIG

Correct Answer :-

« identity, intimacy / U&dTel, HTcHIAT



A child-friendly learning environment shall have / T <9 & fav HW FTH FIgEor #H
AT gem:

1. Learner discipline , TRr&reff JJRATHA

2. Learner autonomy / e &1 Faradaar
3. Linear exposure / (& 3TTdI 0T

4. Teacher authority / T18Th &I TABPR
Correct Answer :-

« Learner autonomy / TI&TTT I Targadr

26) Castration anxiety occurs in which stage of psychosexual development? / A E R i
i ® 3gEYT H FEgFHIOT [T (FEeAA ToEd) g §2

1. Anal / 3[&T (TeTeT)

2. Oral / FIT&EH (3A)
3. Latency / YT (oEH)
4. Phallic / oif3Th (thferm)

Correct Answer :-

« Phallic / oIf9Th (Fforep)

27) Rehearsing for later relationships is called

| 91 % fredl & fow qaream w1 I B

1. Developmental Socialization / TIRIATcHD THTSTHIIT
2. Secondary Socialization/ T§ciTIe HHTSIAIOT

3. Primary Socialization/ TTATHE FHATSHAIOT

4. Anticipatory Socialization/ TcITRITcHD HHTSTHIOT

Correct Answer :-
« Anticipatory Socialization/ TcaTITcHE GHTSIIHIOT

28) Children from disadvantaged groups are less likely to have good nutrition, access
to good health care, and opportunities to /ﬁﬁﬁ '\q'«Fl:b’T & T4l F oI



q’rcror,amfrwwa'ama?qg‘irsﬁt & ITEI Y GHTGAT FH
g Bl

1. Play / @Wold

2. Learn / Hr@
3. Study / I<IIA
4. Enjoy / 3Tg

Correct Answer :-

« Learn/dr@a

29) A teacher can replace the term 'Failure' in his/her feedback with / U fR1&/% g+t ufafear
H ¥ ' IqBAdr Weg B UfaATid H= gl 8-

1. lack of inteIIigence/Eﬂ? T FAT

2. Incompetency / 3113l

3. learning disability 31T 316TAAT

4. emerging in Iearning/m H SHITAT

Correct Answer :-

e emergingin Iearning/m H ST

30) One student is not able to learn in the class as his/her pet is not well. Most likely factor
affecting learning is -/ T BT H&T A Tg1 WG UT 38T 8 FP ITDT UTelr U] Sih =81 8
SR B YUIfad H3A aTe ) GHIfAd RS @

1. lack exercise/ S{WITH DI BH

2. adverse emotional condition/ l,«ItI.aCQH HIJATcHD ﬁaﬁ
3. lack of sleep/ g &r Her
4. lack of nutrition/ GINUT <hT AT

Correct Answer :-

o adverse emotional condition/ l,«l‘l?lcpol HIdATcHD mﬁ

Topic:- General English(L1GE)



1) Fillin the blank with the correct option in the given sentence:

The branch of physics that deals with living organisms is called --physics.
1. meta --

2. bi --

3. bio --

4. geo --

Correct Answer :-

2) Fill in the blank with the correct option in the given sentence:

The company responded decis-- by sending the work overseas.

1. --ion
2. —-ive
3. —-ively
4. --ous

Correct Answer :-

3) Read the passage carefully and answer the question given below:

“The Brooklyn Bridge” when it was completed in 1883, it was hailed as the eighth wonder of the world. The Brooklyn Bridge was the
first bridge to be electrically lighted and the longest suspension bridge in its day. It was built to link New York's Manhattan district and
Brooklyn District across the East River. Designed by a German immigrant engineer called John Roebling, it took 14 years to finish, at a
cost of $ 15 million and 20 lives, including Roebling's own fortune. The bridge deck measures 478.5 m across between towers that rise
82.8 m above the river. Side spans, 279 m long, connect the towers to the shore on either side. The Brooklyn Bridge originally had
carriageways, cable railway tracks and an elevated walkway. Today, there are six lanes for traffic on its 39 m wide deck with a million
cars crossing daily. The cable railway tracks were removed in 1944, but New Yorkers still stroll, bike or jog along the walkway, which
was restored in 1982.

Which is hailed as the world's eighth wonder?
1. The Howrah Bridge

2. The Suez Canal

3. The Brooklyn Bridge

4. The Taj Mahal



Correct Answer :-

® The Brooklyn Bridge

4) Read the passage carefully and answer the question given below:

“The Brooklyn Bridge” when it was completed in 1883, it was hailed as the eighth wonder of the world. The Brooklyn Bridge was the
first bridge to be electrically lighted and the longest suspension bridge in its day. It was built to link New York's Manhattan district and
Brooklyn District across the East River.

Designed by a German immigrant engineer called John Roebling, it took 14 years to finish, at a cost of $ 15 million and 20 lives,
including Roebling's own fortune. The bridge deck measures 478.5 m across between towers that rise 82.8 m above the river. Side spans,
279 m long, connect the towers to the shore on either side. The Brooklyn Bridge originally had carriageways, cable railway tracks and
an elevated walkway. Today, there are six lanes for traffic on its 39 m wide deck with a million cars crossing daily. The cable railway
tracks were removed in 1944, but New Yorkers still stroll, bike or jog along the walkway, which was restored in 1982.

‘Which river does the Brooklyn Bridge stretch across?
1. Missouri

2. Mississippi

3. East River

4, Ohio

Correct Answer :-

e East River

5) Read the passage carefully and answer the question given below:

“The Brooklyn Bridge” when it was completed in 1883, it was hailed as the eighth wonder of the world. The Brooklyn Bridge was the
first bridge to be electrically lighted and the longest suspension bridge in its day. It was built to link New York's Manhattan district and
Brooklyn District across the East River.

Designed by a German immigrant engineer called John Roebling, it took 14 years to finish, at a cost of $ 15 million and 20 lives,
including Roebling's own fortune. The bridge deck measures 478.5 m across between towers that rise 82.8 m above the river. Side spans,
279 m long, connect the towers to the shore on either side. The Brooklyn Bridge originally had carriageways, cable railway tracks and
an elevated walkway. Today, there are six lanes for traffic on its 39 m wide deck with a million cars crossing daily. The cable railway
tracks were removed in 1944, but New Yorkers still stroll, bike or jog along the walkway, which was restored in 1982.

‘When was the walkway restored?
1. 1972
2. 1962

3. 1982



4. 1952

Correct Answer :-

6) Read the passage carefully and answer the question given below:

“The Brooklyn Bridge” when it was completed in 1883, it was hailed as the eighth wonder of the world. The Brooklyn Bridge was the
first bridge to be electrically lighted and the longest suspension bridge in its day. It was built to link New York's Manhattan district and
Brooklyn District across the East River.

Designed by a German immigrant engineer called John Roebling, it took 14 years to finish, at a cost of $ 15 million and 20 lives,
including Roebling's own fortune. The bridge deck measures 478.5 m across between towers that rise 82.8 m above the river. Side spans,
279 m long, connect the towers to the shore on either side. The Brooklyn Bridge originally had carriageways, cable railway tracks and
an elevated walkway. Today, there are six lanes for traffic on its 39 m wide deck with a million cars crossing daily. The cable railway
tracks were removed in 1944, but New Yorkers still stroll, bike or jog along the walkway, which was restored in 1982.

How many years did it take to build the Brooklyn Bridge?
1. 14
2. 12
3.20

4. 15

Correct Answer :-

7) Read the passage carefully and answer the question given below:

Some people may have extra bones. There are 209 bones in the human body. Some people, however, have a few bones more while, some
others have a few bones less! The commonest extra bones are those which grow inside certain muscle tendons. These bones lead
completely independent lives, unattached to other bones. These bones are called sesamoid bones. Extra sesamoid bones may grow, for
example, in the tendons under the big toe. Some sesamoid bones, however, grows in everybody. One such bone, called the pisiform bone,
lies in front of the wrist. The largest sesamoid bone in the body is the patella. The patella is the circular bone in front of the knee; it is
also known as the kneecap. Extra bones may grow elsewhere, too. A few persons may have an extra pair of ribs, either above or below
the usual 12 pairs of ribs. These extra ribs may cause problems to health. For example, extra ribs growing in the neck can compress
important arteries that supply to the upper limbs.

Which is the largest sesamoid bone in the human body?

1. Clavicle



2. Patella
3. Skull

4. Thigh

Correct Answer :-

e Patella

8) Read the passage carefully and answer the question given below:

Some people may have extra bones. There are 209 bones in the human body. Some people, however, have a few bones more while, some
others have a few bones less! The commonest extra bones are those which grow inside certain muscle tendons. These bones lead
completely independent lives, unattached to other bones. These bones are called sesamoid bones. Extra sesamoid bones may grow, for
example, in the tendons under the big toe. Some sesamoid bones, however, grows in everybody. One such bone, called the pisiform bone,
lies in front of the wrist. The largest sesamoid bone in the body is the patella. The patella is the circular bone in front of the knee; it is
also known as the kneecap. Extra bones may grow elsewhere, too. A few persons may have an extra pair of ribs, either above or below
the usual 12 pairs of ribs. These extra ribs may cause problems to health. For example, extra ribs growing in the neck can compress
important arteries that supply to the upper limbs.

Where is the pisiform bone found?
1. In front of the wrist

2. Ankle

3. Ribs

4, Thigh

Correct Answer :-

e In front of the wrist

9) Which one of the following is the correct reported speech of the given sentence?
The boss said to the peon, "Bring the file.”

1. The boss was ordering the peon to bring the file.

2. The boss asked the peon, bring the file.

3. The boss ordered the peon to bring the file.

4. The boss told the peon for bringing file.

Correct Answer :-

o The boss ordered the peon to bring the file.



10) Read the passage carefully and answer the question given below:

Some people may have extra bones. There are 209 bones in the human body. Some people, however,
have a few bones more while, some others have a few bones less! The commonest extra bones are
those which grow inside certain muscle tendons. These bones lead completely independent lives,
unattached to other bones. These bones are called sesamoid bones. Extra sesamoid bones may
grow, for example, in the tendons under the big toe. Some sesamoid bones, however, grows in
everybody. One such bone, called the pisiform bone, lies in front of the wrist. The largest sesamoid
bone in the body is the patella. The patella is the circular bone in front of the knee; it is also known
as the kneecap. Extra bones may grow elsewhere, too. A few persons may have an extra pair of ribs,
either above or below the usual 12 pairs of ribs. These extra ribs may cause problems to health. For
example, extra ribs growing in the neck can compress important arteries that supply to the upper
limbs.

Where is the Patella situated?
1. In front of the knee

2. In the wrist

3. In the ankle

4. On the shoulder

Correct Answer :-

e In front of the knee

11) Read the passage carefully and answer the question given below:

Some people may have extra bones. There are 209 bones in the human body. Some people, however,
have a few bones more while, some others have a few bones less! The commonest extra bones are
those which grow inside certain muscle tendons. These bones lead completely independent lives,
unattached to other bones. These bones are called sesamoid bones. Extra sesamoid bones may
grow, for example, in the tendons under the big toe. Some sesamoid bones, however, grows in
everybody. One such bone, called the pisiform bone, lies in front of the wrist. The largest sesamoid
bone in the body is the patella. The patella is the circular bone in front of the knee; it is also known
as the kneecap. Extra bones may grow elsewhere, too. A few persons may have an extra pair of ribs,
either above or below the usual 12 pairs of ribs. These extra ribs may cause problems to health. For
example, extra ribs growing in the neck can compress important arteries that supply to the upper
limbs.

How many bones does a human being have on an average?



1. 209
2. 203
3. 506

4. 200

Correct Answer :-

e 209

12) Which of the following options best combines the given sentences?

It is not a good thing. Don't feed the animals in a zoo.

1. It is not a good thing in a zoo, so don’t feed the animals.

2. Itis not a good thing to feed the animals in a zoo.

3. Don’t feed the animals in a zoo because it is not a good thing.

4. In a zoo, it is not a good thing for feeding the animals.

Correct Answer :-

e Itis not a good thing to feed the animals in a zoo.

13) Choose appropriate articles for the given sentence:
____stress of city life has effects on ____intellect.

1. The ... no article required

2. The ... the

3. No article required ... no article required

4. No article required ... an

Correct Answer :-

e The... the

14) Choose appropriate article for the given sentence:

She was faced with unusual problem which could not be solved easily.
1. an

2. the



3.a

4. no article

Correct Answer :-

15) Choose the appropriate option that rewrites the given sentence in its passive voice.
The intense heat caused great friction.

1. Great friction caused by the intense heat.

2. Great friction was causing the intense heat.

3. Great friction was caused by the intense heat.

4. Great friction had caused by intense heat.

Correct Answer :-
e Great friction was caused by the intense heat.

16) Choose the appropriate synonym for the highlighted word in the given sentence.

I will have to find a way to adapt myself to the new requirements.
1. surrender

2. accommodate

3. replace

4, match

Correct Answer :-
e accommodate

17) Choose the appropriate antonym for the highlighted word in the given sentence.

There are approximately 80 million people living in France.
1. precisely
2. roughly

3. under



4. over

Correct Answer :-
e precisely

18) Choose the appropriate conjunctions for the given sentence.

I am still confused to run for the 100 meter’s the relay.

1. whether... or
2.as...as
3. either... or

4, if... then

Correct Answer :-

o whether... or

19) Choose the appropriate determiner for the given sentence:

Although a wide variety of drugs are available to ease pain, people still fear taking them.
1. many

2. none

3. every

4, few

Correct Answer :-

20) Choose the appropriate prepositions for the given sentence:

Looking ____ the forecasts ____ the world’s energy demands _____ the future is pretty frightening.
1. beyond ... through ...in

2. at ... for ... for

3.at..in ... with

4. on..at..on

Correct Answer :-



21) Choose an appropriate modal for the given sentence:

He swim in any river as he is very capable.
1. should

2. may

3. must

4. can

Correct Answer :-

22) Choose the option that best explains the highlighted expression:
Kumar opened his heart to me.

1. shared his deepest feelings

2. abused me

3. showed his scars after a heart surgery

4, revealed his heart

Correct Answer :-

» shared his deepest feelings

23) Choose the most suitable pronoun for the given sentence:
This book is better than cover would suggest.

1. their

2. mine

3. your

4, its

Correct Answer :-



24) Read the sentence carefully and choose the option that has an error in it:

He gone to the conference to learn about government contracts.
1. to learn about

2. to the conference

3. government contracts.

4. He gone

Correct Answer :-

25) Choose the appropriate tenses to fill in the blanks in the given sentence:

Keval in this office for the last five years and a sincere worker.

1. has worked... is
2. has been working... is
3. working... is

4. worked... is

Correct Answer :-

¢ has been working... is

26) Choose the appropriate tense to fill in the blank in the given sentence:

Rashmi is a violinist. She often at concerts.

1. is playing
2. will play
3. played

4. plays

Correct Answer :-

27) Rewrite the following changing the passive sentence to active.



Every disaster affected victim has been compensated by the Kerala government.
1. The Kerala government has compensated every disaster affected victim.

2. The Kerala government have been compensating every disaster affected victim.

3. The Kerala government has been compensating every disaster affected victim.

4. The Kerala government had compensated every disaster affected victim.

Correct Answer :-
o The Kerala government has compensated every disaster affected victim.

28) Choose the right tag:

They need some new clothes & toys as well,  ?
1. don’t they

2. do they

3. didn’t they

4. does they

Correct Answer :-

e don’t they

29) Choose the option that substitutes the given phrase appropriately.
Agreed to by everyone

1. Unanimous

2. Anonymous

3. Unify

4. Anon

Correct Answer :-

¢ Unanimous

30) Choose the right tag:

You remember me, ?



1. are you
2. aren't you
3. do you

4. don't you

Correct Answer :-

e don't you

Topic:- General Hindi(L2GH)

1) gf~ai ® a1ezme € W1 8 a8 ff st
3R gwierd-3n-TeT § A1 § a8 W st
SRER 9941 8, 11 & a8 ot emeHt
e it @1 381 8, A ? 98 ot et
TPS 91 75T 5, 1 8 a5 Wt st

#fere o emet A 7€ @ Ti R

T4 ¢ e 8 ST 3R gaareAi |

Tga ¥ amet €t PR SR T |

3R 3t g I R € Sfaati

SN ! drsar & 41 @ ag ot et

Iued U= B) g 19 AT 1T uy o1 3WR I8 :
- gfrar f ureT &7 3reg 82

1. 3R

2. geAaTelt

3. BT
4. TH

Correct Answer :-

39T T § 3R TN IE WURTT 4T A9 §, W o9
TGHIT STl gl §OR F 6T g@ gelorl vl § @ qET

e 83U ARG T 3o €, AN ¥ T T AN §, I F Prddeg ant @R RN dewv T
F frafeh womer ¥1 Bed s9% wlR A sanh @ 6 ol ot @ Bed F & @em gam §1 R sk
fAed #1 dF FER ' HERAT W F6 F¢1 ol UHdT ¢ Weg I6 M &I & &Y a@ ¢ & Sawt

FRaeT e & T st § & w9 el @ & B §
39gFd AGIIT T IgH AR U 10 woa 7 3w qaqBT



W - GEIT NGT A AWF F Frudr Hgar F1 q@= FAw g2
1.9
2. el
3. e
4, el

Correct Answer :-

39S ge ¢ 3R F1 9§ WUROT g AL §, W ad
TGHT ST 1 §OR & A1 g@ geler| ol @ o/ a5

e g1l 3w AEIRET §o 3odt §, AN F TF &0 AT ¢, WS A Pddem IRt @e Re deww e
1 faeafasrh womar 31 Aed 3aF X F gl § FAIR wlW st o AT F1 & wem gam ¥ R SR
fAed #1 dF FER ' HERAT W F6 FO1 o GHdT § Weg I6 M &4 & Y a@ ¢ & Saw

¥RAe e ¥ fe afa § & @ B ¥ & B #
39gFd AGHIT T IgH AR RBu 10 wo F7 3w FqBT
vee - ‘Rreafdedy & A 87

1.€8

2. 3

3. YRy

4, FAURT

Correct Answer :-

4) S qUUT F g ¥ WM §, 7 FAIEN F I@P A A F TAT ¥ HF¥ IR W FFar 2 Wwar ¢ @
38F1 gHe ¢ 3R FA1 9§ WUROT g AL §, W Ao W
TGHT ST 1 §OR & A1 g@ geler| ol @ o/ a5

e @11 3UH AW T o &, AW ¥ aF U A ¥, @ F Frdged ARt W R dew I
#1 faeafasrh womar 31 Aed 3uF R F gl § FEIER wOT st o AT w1 & wem gaw ¥ R SR
fAed #1 dF FER T HERAT W F6 F¢1 o GHdT § Weg I6 M &I & Y a@ ¢ B Saw

¥Rae sftaw & fe s ¥ & @w el @ & Pea §
39gFd AGHIYT T IGH AR Ru 10 wo 7 3w BT
yeeT - g 1 e fhw for @ g8 ¥

1.9 |

2.deT AR #SS A



.dad R B A
4. 78 @

Correct Answer :-

. da 3R FsS |

5) N S99 H 4 & WAT §, 9§ A& A 3@ H A # g F F4 RS @ ¥FA §2 Gar § A
39HT gHTT § 3R FAT I§ WUROT g FET 7, WA dd AR 7SS w
TGHT ST ¥l FOR H A1 @ geler| i F W e W Aed W fraed

- :

frere @11 SO AR @ S5t €, AW @ aF 60 @ ¥, I A Fiddad R W R geww A
aﬁﬁaaﬁaﬁrm%lﬁz@rmﬁ?aﬁm%wﬁwwmmﬁzﬁmamgm%l R 3R
et # A9 TUR A IWRAT W TET FS Fe o FhaT § Woq I M &I &7 A a7 § B Haw

AReeE S & fv sfvard § ¥ w9 el @ & B §
39gFd AGHIT T IGHT A QU T W FT 30/ TABT:
weeT - R FrEd e g3 §7

1.fedr |

2.9 4

3.9 9

4.59 9

Correct Answer :-

- PEE |

6) N S9UA H 4o & VAT §, 9§ A& A 3@ H A # g F F4 RS @ ¥Fa1 §2 Gar § a
39HT gHT § 3R FAT I§ WUROT g FET 7, WA dd AR ASS w
TGHT ST ¥l FOR H A1 g@ geleor| iR F W e W Aed W fraed

- :

frere @11 SO ARG @ S5t €, AN @ aF 60 @ ¥, Irn A Fiddad R W R geww A
aﬁﬁaaﬁaﬁrm%lﬁz@rmﬁ?aﬁm%wﬁwwmmﬁzﬁmamgm%l R 3R
et # A9 FUR AN IURAT W TET FS Fe1 o FhaT § Wo I M &4 &7 A a7 § B Saw

AReeE S & fv sfvard & ¥ w9 el @ & B §
39gFd AGHIT F IeHT A QU 7T WoeT FT 30/ TABT:
- ‘r@Ter &1 Y FAT gar 87

1. T0T-gg

2. ACGE-TUA

3. Mg

4. qgdrgr

Correct Answer :-



7) St g9 # 4F ¥ QT ¢, IF A= H @ A Aed #
3FT AT § 3R T4 a7 WUROT g7 AE §, WA o7 3R 7S
TORT AT ¢ FAR & ¥6T g@ gefer| ol § W d6d W A
e g1 3uH ARG T I ¥, I ¥ TF F0 A B, @ HA

F feafdsdt aemar §1 B 389F iR qacd § F=ifF ol it O Bed =1
fed #1 A FUR N FARAT W gd T FgT A Fohal § W] I6

AR Shaer & e sfad §, 3 @9 fed @ & fea §

39gFd AGHIT T IeHT A QU T W FT 30/ TABT:
gee- R FT qIHart JAg 87

1. 9

2.28

3. dcdd

4. 1l

Correct Answer :-

8) S Fuuw #H 4o ¥ Wl §, q¢ Jaw H @ #fir A ?
3HHT gHT § AR FA1 Ig WUROT 4 FE 8, A do AN AGe § Rwd g¥ 9w Aed 8, B9 daar
T T ¥ WER F ¥ gw gelerl o ¥ R/ geT W L |
frwar 1 3w AEIRAT G 3ot §, WRH & 7 & AT ¢, w@S A

F feafdsdt aemar §1 Bed 389F iR F aa@cd § FifF lR it O Bed =1
et # d9 FER A HURAT W TGA FS Fel oA FHal § Weg T

AR Shaer & e sfad §, 3 @9 fed @ & fea §

3YYFA TCHTA FT YGHT oA QT T JeaT FT 31 IABT:
ye - ‘g FT R w4 2

1. GiATg

2.39H | PS5 AL

3. HHIT

4, AT

Correct Answer :-

. glameg



a’rm?rﬁﬂg#@m%,ﬁm#mﬁﬁﬁgﬂ#mﬁ#%@aﬁawmﬁw%am
gaea ¢ 3R FAT g WUROT 4o qE 7, W 9o AN 7SS ¥ s g aw PAed ¥ O dgar w wenn
ST §1 HER A ¥ g@ gl qHe § R ded W A W Rraed 8 SR amedt $aT @ewt e gl
W AT G Iodt §, AW @ TF &0 gr 8, Iwrs # fRAdgem 9t we
mmm%lmmamwm%memmmm & z
F AP HEN A HARAT W Ggd TS F A el § W 6 #f &40 & & a9 § B o avaes
Saer & v sfat § 3 99 A @ & @A §

E
]
i
4

39YFd AGIIT T IGH AR RU 10 woa 7 3w FaBT:
U - ‘gU9YT H 9 § -

1. 9cag

2. GAATH

3. foparm

4. 3UFIN

Correct Answer :-

10) St FU9T H 4o ¥ e §, 9§ 9N H 3@ Ay ?
mgm%aﬂrmlwmaﬁaﬁ% mmmmamggagm%,mm
TGHT ATl Bl HER H T g@ el v § W/ qo@T W ] ’

§
ix
¥
7
A
]
%
g
a3

Frre @1 S AR @ Sodt & AW & a8 61 AT §, I A forddem O W R dew I
as‘rﬁaaﬁa‘d’rm%lﬁwmamtﬁm%memtmmﬁzjamamgm%l iR 3
fedt # A9 FER T HURAT W TGd F& Fgl oA Fhal § Weg I¢ N &I & A 917 ¢ & Ta=r

AT Sfaer & Fv wfard &, @ wa fed @ @ e §
39gFd AGHIT T IGH A RU 710 woa 7 3w @B
R - ORI WA fAra & AT F FAT JF 72

1. ART f&em3it &1 Arfores grer

2. faeretor iy

3. 3k @

4, QUTd: qIfSd @ &

Correct Answer :-

o Qo qfsid & &

11) S qO9T & 4T ¥ Qo &, TE FAEN A FWE H A A TS ¥ FX dRT @ FThar 82 @ § A
mgm%aﬂrmlwmaaaﬁ% A AT 3T A & RS g5 ag BAed &, B T@gar W
TGHT ST 1 HOR & A1 g@ geler| ol @ R s W J

frwar @1 3ER AEIRAT o 3o ¥, WA F I & 3131%,31'@1:%:?‘
ﬁmmmmmmamzﬁm% X ot A Aedh =1 &



fcdl F AT FER Y IWRAT W Tgd T6 FoT 91 FFHal § Wog I6 N oAt & 1 a7 ¥ & Sa=
AR e & v st ¥ & w9 ed @ & B §

3YYFA TCHIA T YHT oA QT T FoaT FT 31 TABT:
- WAR FT 9Igard) eUeg AE &7

1. Sfraet

2. fasm

3. g

4. §lglTus

Correct Answer :-

12) St FU9T H 4o F Qe §, IF A9 H @ Af; 7
mgahw%aﬁtmlu‘s’mwwaﬁ% awaaaﬁtmﬁﬁaﬁgéagﬁzﬁ%,mm
TGRT AT ¥ FER A W og@ gele| T F R/ deT W ¢ ’

§
ix
i
%’
A
]
¥
g
a3

Fra @ WA AR w Sod & AW Qa8 0 A ¥, @ # Frided ARt @ R dee

a»‘rﬁaaﬁm“rm%lﬁwmemwaﬂam%arznﬁ:emtaﬁmﬁzﬁmiﬁmom%l iR 3

et # a FER A IR W TS FeT o Fhdl ¢ Weg T6 o &4 @ A a7 & &F Sa=

AReeT Saet & e s § 3 w9 ¥ & e B

m@wmhrﬁwmmmmammw:

W - YA AT FT WF ofNF g wwar §7

1. fred

2. Sitdel

3. §OR

4. AT

Correct Answer :-

. i

13) St F9uT # g7 F T §, 97 FaAE A @S H P A G ¥ T IRF @ FFa ¥? war ¥ A
w

Sa giTT § AR F TE RS qF ¢, O A N wes § Rwrd g aw Wed ¥, PR awe
TGRS ¥l FER A W og@ gele| T F R/ deT W J ’

frwar @1 3w AEIRAT o 3o ¥, IR ¥ IF 0 A, mﬁﬁﬂm—mwmmm
aﬁﬁaaﬁmﬂm%lmmemzaﬁam%anﬁwmtaﬁmﬁzﬁﬂiﬁmom%l R 3T
fAed #1 dF FER ' HERAT W F6 F¢1 o GHdT § Weg I¢ M &I & Y a@ ¢ & Saw

Waﬁaa%ﬁvaﬁaﬁ%a‘w T & A &
mﬁwmﬁrﬁwaﬁ%mmmammw:



W - IF T FH 82
1. fafre

2. 31T & g

3. QA

4. g3h T gl

Correct Answer :-

~

3T g ¥ AR FA1 IE WURYT g7 A€ R, a7 a9 3R
TGHT ST 1 HOR & A1 J@ geler| ol @ R g W

14) S g9 H 4F & W@l §, 97 JaA H @S A P F w4 ¥ F@ IR™AT @ FFar 2 @War g
W

~

e g1l 3w AEIRET §o 3odt §, AN ¥ TF &0 AT ¢, WS A Pddem IRt @e e deww e
1 faeafasrh womar 31 Aed 3aF X F gl § FAIR wlW st o AT F1 & wem gam ¥ R SR
fAed #1 dF FER A HERAT W F6 FO1 o GHdT § Weg I6 M &4 & Y a@ ¢ & Saw

AREeT Shaet & fv sfoard &, @ &« et & & e &
39gFd AGHIT T IgH AR RBu 10 wo F7 3w FqBT

W - Siaed & fOaa ot afed araaa § @ Few e
1. fAcér @

2.9 |

.59 ¥

4. e |

Correct Answer :-

. Pred @

~

3T gy ¥ AR FA1 IE WURYT g7 A€ R, a7 a9 3R
TGHT ST 1 HOR # A1 g@ geler| ol @ R g W

15) S g7 H 4o & @el §, 97 Ja H 3@ A P F w4 F F@ aR™AT @ FFar §2 @War g
W

~

e g1l 3w AT o 3odt §, INH ¥ TF &0 AT ¢, WS A Fddem IR @e Re deEw we
#1 faeafasrh womar 31 Aed 3uF R F gl § FEIER wOT st o AT w1 & wem gaw ¥ R SR
fAed #1 dF FER ' HERAT W F6 F¢1 o GHdT § Weg I6 M &I & Y a@ ¢ & Sawt

AREeT shaet & fv sfoard &, @ &« et & & e &
39gFd AGHIYT T IGH AR Ru 10 wo 7 3w BT
Y- ‘HARET ¥ FI1 A9 2

1. fafrgar

2.2y T IRG



3. 319
4 B8

Correct Answer :-

o Y F ARG

16) S S9u #H 4o @ Wl ¢, I¢ Qe A HW@S fN
e g ¥ 3R Fm aF R q@ @ ¥, o Aw Ak
TORT ST ¥ WAR A Y g@ gl T ¥ W aeT W
frwar @1 3WR AEIRAT G 35 ¥, IRH T IF & A, srare #
aﬁﬁ?aﬁaﬁm%lﬁwmamaﬁaaﬁﬁ%wﬁ?erﬂ?mmﬁwm
et #1 A TER A IWARAT W T{d FS FeT o Fhdl ¢ o TE
ARAeT Maet & v s § @ we Hed ¥ & Bed §

i
it
i
~34
4l

!

1

g
a3

39gFd AGHIT T IGHT A QU T W FT 30/ TABT:
- ‘HRTH F & Qa1 ' & FAT aead ¥

1. -4 3R AT B

2. IRTHSTIH BTl Bl

3. HEHL BT B

4. TSN @ AT AT B

Correct Answer :-

o R-4RY 38X BT '

17) gfaar & scare @ At € a8 off e
3R gwiag-at-arer & & & gg ot ame)
SRER d=ar §, | § ag st ames
3T I @ @1 &, /Y ¥ ag s smesh
THS 94T T@T ¢, A1 § g off e

Aftae ot e o I & I @AT

oo1d § et & A AR gAerEil

Ted § e & FU IR AT A

3R I & 3T I 7 St

S 3R arEar § @ & ag st e

39YFT ISHIT Y TgHT oAl QU T gt FT 3T AT :
WReA- YA HiAdT F1 v ardw s = gem?

1. @IAETET

2. TGHATAT

3. ICHAER



4. JICRITEATHT

Correct Answer :-

18) gfaai # argee § @ ¥ @ off amea
3R Fwfaw-3-orer § & § ag o sme
SRER d=ar §, | § ag st e
fA3rAa Y @ e &, | & ag st e
THS 94T T@T &, A1 § g off ames)

Afeae ot e o I & I @AEm
Tad § et € g IR gaarEal|
Ted § et § FUT IR FwS 4
mmamm%aﬁmu

a’rsam‘rm%zﬁ%agsﬂamﬁn

39YFA TSI Y YgHT A QU T oot FT IW AR :
9T - ‘SHA esg T 4T 7Y gar 872

1. dtar

2. 4R

3. Beh

4. FEAA QU

Correct Answer :-

19) gfera # sTewre ¥ & & g€ o smeA
3R AHfaw-at-arer § &  ag sft e
SRER ¥=1aT 8, W ¢ @ ot 3meah|
e S @1 o1 §, @ ¥ ag oft ameEh
T3 €T @ ¢, W ¥ aw st ameen)

Afeae oft ey o T & I @m
T ¢ e & g AR gaarEa
m%mammmm
mmamm%aﬁm

S SeTHY e & W ¥ aw ot e

39YFA YEIIA F YgH A QU T geoT HT 37X q@1BV ¢
TR - ‘TGN 2Aeq HT FAT HY §?

1. qufed

2. geAdrd



3. 39e
4. I

Correct Answer :-

20) gfaar F sreeng ¢ WY § a o amee
3R AHfaw-3t-arer ¢ & ¢ ag sft smeA
SRER a<1ar §, A § ag sfr e
3T Y @ @ &, | & ag st e
THS a1 W@ ¥, W ¥ g st ame)

Aftae ot e o I & I @AT
oI § 3eA & g AR gesrEail
Ted § e & FU IR AT A
3R el & 3T I § St

S 3! drEar & @ ¢ ag oY e

39YFT ISGHIT Y TgHT oA QU T T FT 3T AT ¢
WS -'THIT FT YAIATd! Asq FAT AGT 67

1. feear

2. qof

3. AT

4. 3791

Correct Answer :-

21) gfer & areeng @ A ¢ G oft e
3R Fwiag-at-arer & W/ § a7 oft ame)
SRER d=ar §, A § ag sit e
fA3rAa Y @ e &, A & ag st e
THS 941 T@T ¥, W ¢ g oY amean)

Afese oft e o I & I @Em

a1 § e & g AR gaarEail

Ted § et & FU 3R FIS A

3 et & s T § it

ST 3T arar § @ & gg it e

39YFT TSI Y gHT A QU T gt FT IW AR :
TRe - ‘GIEATE AE § ?

1. Uhdde



2. fga=aa
3. 508 @ BIS e
4. ggade

Correct Answer :-

22) g & areeE @ A ¢ @ oft e
3R AHfaw-3t-arer ¢ @ ¢ ag sft e
SRER d=1aT §, @ § 38 &t smeeAn
3T o @ @1 7, @ § ag st smesn
TH3 U1 T@T ¢, W g ol ameHn)

ARSg oft et o sod § a1 A
T1q § et & A AR gderEil
Ted § e § FU IR FATS 4
A ameeh & e g § S

S 3 arsar § A/ § aF ol smeEn

39YFT ISHIT P TgHT oAl QU TT geoT FT IWW IABT :
- T A §?

1. GOATH

2. g1

3. foparm

4. fawor

Correct Answer :-

23) gfera # areeng @ A ¢ @ oft e
3R gwfow-an-arer ¢ @ § ag sft ames
SRER aoar §, @ § 9§ ot gt
3mAa St @ @ &, At § ag st aneH
T3 9«1 @ ¢, W ¥ aw st ameen)

Afteg ot e ¥ I & I A=
Tad § et € g AR gaarEa
m%mé’rmaﬁwmml
mmamm%aﬁm

a’rmm%m%agaﬂamnw

39YFA ISIIT Y YgHT A QU T oot FT IWW AR :
F- ‘FEOH-3-TET ¥ FT aeId 2



1. UeTare
2. Jerare
3. Teh}

4. IIGATS

Correct Answer :-

24) g # aumE @ A ¢ g ol e
3R AHfaw-at-arer ¢ & ¢ ag sft smeA
SRER d7a1 §, | § a7 Y A
3T St @ @1 &, 9t § ag st e
TH3 9T T@T ¥, W g ol amean)

Aftae off e o I & I AT
s § e € gar 3R gawTEail
Ted § e § FUq IR AT =i
mmamm%aﬁm

sﬂmaﬁm%%ﬁ%agsﬁamﬁm

39FT ISHT P TGHT oAl QU T g7 FT IWW IABT ¢
- ‘THS qAEAT HeTaX F HY ¢ -

1. glc-dic & Qe

2. dI3-AIZHT FdTAT

3. BISH Tl

4. GEY & TEAT T Toledl

Correct Answer :-

« GE & AT W el

25) gfera & areeng @ @Y ¢ G ot e
3R Awfow-3i-arer § @ § ag ot smea
SRER d=1a1 ¢, @ § a8 s amee
fA3rAa Y @ e &, | & ag st e
THS 94T T@T &, A1 § 9 off e

Afeae ot e o I & I @An
o1d § et & gA AR gerEil
Ted § et § FU IR FwS 4
3 et & s g § it

S 3! drEar & @ ¢ ag oY e

39YFA TSI Y YgHT A QU T oot FT IW AT :



ye- ‘gAY ersq §7
1. fagel

2. IcuA

3. dgd

4. ST

Correct Answer :-

o facel

26) gt # areeE ¢ @ ¥ aF ot e
3R AHfaw-at-arer § & ¢ ag sft e
SER d7ar ¢, A ¥ ag ot e
e ot @ e @, @ ¢ 9w oft amesh
TH3 94T T@T ¥, W ¥ g off ameHn)

afeog st AT & To$ § I @A
Td § et & A AR gderEil
ged ¢ et & F AR AR A
3R amee & 3ah T § it

St 3@ arsar ¥ @ ¢ g oft e

39YFT ISHT P TGHT Al QU T geoT FT IWW IATB ¢
Wee- ‘TG ASE AT H & FAT 87

1. gieelar

2. Eferar

3.39H ¥ PIS AR

4, AGHB oI

Correct Answer :-

27) gfaar # sreeng ¢ WY § g o ames
3R AHfaw-3t-arer ¢ & ¢ ag st smeA
SRER d=ar §, | § ag st e
3T Y @ @ &, | & ag st e
THS 94T T@T &, A1 § g off ames)

AR oft et o sos § I A
Td ¢ e & e IR gaarE
Ted § e & FU IR AT A
3R el & 3T I § St

S 3 arsar § & ¢ ag off smeEm



39YFT ISIIYT Y YgHT A QU T oot FT IW AT :
yeeT- Sl ereg 87

1. Thaded

2. fgaaa

3. SO @A

4. dgddel

Correct Answer :-

28) gt # sreenE ¥ @ ¥ aF st e
3R wiow-3it-orer § @ § ae ot smea
SRER d=1aT §, A § a8 s e
3w S @ @ §, 9 g ag off amea
THS 94T T@T o, A ¢ g oY e

Afeae oft ey o I & I @Am
T ¢ e & g AR gaarEa
Ted ¢ meH! € FUT IR FATT
i et & e g § S

ST SR arsar § @ § ag sh e

39YFA YEITA F YgH A QU T gt HT 3 q@1BT ¢
Weed- WEJd Ffadr # Ffa & sl & e vt F1 aoler fFar?
1. Shacl CHT &HT HHTIATIN T

2. pael HGHT H 3ol @

3. hdel HGH I WHATHT &1

4. 3UH A

Correct Answer :-

o WP T

29) gfaar F arqenE ¢ WY § g of ame
3R AHfaw-3t-arer ¢ & ¢ ag sft smeA
SIER a<1a1 §, @ § ag of ameeh
fA3rAa Y @r e 8, A § ag sft amesh
THS 94T T@T &, A1 § 9 oY amee)

afeeg ot e F s § a1 AT
o1q § et & A AR gderEi
Ted § e & FU IR AT A



3R Il § 3T I § St
ST 3! dEar & @ ¢ gg st e

39YFT ISIIYT Y YgHT A QU T oot FT IW A :
- ot F1 St T & 3 ¢ @ I R F-

1. 9far &

2. 3ufawe @

3. AETHRA &

4. g3l A

Correct Answer :-

o MaT A

30) gfai & areeng & @ § ag st e
3R Awfora-3i-3rer ¢ § & a8 o e
SRER d7aT ¢, W ¢ g #ff amea
e ot @ e B, @ ¢ 9w oft amesh
THS 941 T@T ¥, W ¢ g off ameHn)

Afeee oft e o I & I @Em

Td § et & A AR gdarEi|

Ted § et & FU IR FHS 4|

3 et & s g § St

ST 3ThY arEar § @ & 9@ it e

39YFT ISHIT Y gHT A QU T gt FT I AR :

weel- weqd fFd & el & frer-fre wat iy sarEr Ay i 37
1. hael ABToH

2. hael AGATE

3. hddl SHRGR

4. 3ULh gAY

Correct Answer :-

o S T

Topic:- Mathematics (MAT)

1) If xy=1 then factorization of x+y+2is: /

Tlﬁ'xy=1 ?ﬁx+y+2 E'T[{[UH%:



1. (x+1)(y+1)

2. (x+1)(y-1)

3. (x-1)(y+1)

4. (x-D(y-1)
Correct Answer :-

o (x+1)(y+1)

2) Match the following:-

i. 1 added to x a) -5q

ii. 8 subtracted from p b)x+1
iii. -5 multiplied by q c)p-8/
Frafataa o1 e «¢-

i. x ¥ 1 SsT a) -5q

ii. p ¥ 8 eI b)x + 1

iii. -5 @I q | UM BT c)p-8
l.i—b,ii—a,iii—c
2.i—b,ii—c,iii—a
3.i—c,ii—a,iii—b

4. i—c,ii—Db,ili—a

Correct Answer :-

e i—b,ii—c,iii—a

3) All round development of a child is reflected through ./
U 9= &1 gaiifior faer & AN O ufRaferd gdr g1

1. Anecdotal record/f—!ylid NG EECIRIE RG]

2. Case study record / IhaTd 37CTTT (b Tea) 3fHeg
3. Cumulative record / TR 3{Herg
4. Scholastic record / &y 31fderg

Correct Answer :-

« Cumulative record / ==Y 31fdor@



4) In aright angled triangle the square of the hypotenuse is twice the product of the other two
sides. Find one of the angles of the triangle. /

TP FUHI Ay & Bl 1 97 3o S Yoiait & ot &1 AT B | AYS & FHIoi A A T J1d B

4 60°

Correct Answer :-

5) Who among the four is not a non-Euclidean? /
IR | A B TP R-gfFafsa 81 82

1. Renaissance / TSRO (A=)

2. Bolyai / diedTs

3. Lobachevsky / elararedehr

4. Enclid / vATFeTS

Correct Answer :-

e Enclid / TafFers

6) If two cubes each of edge 10 cm are joined end to end, then the surface area of the resulting
cuboid is ./

10 A fFR 9 T UdS RRI A 92 €, A uRumi ey s gl eapa 21
1. 1500 sq cm /
1500 a1 JAT
2. 1000 sq cm /
1000 I |l
3. 500 sq cm /
500 @3 HHT

4.750sqcm /



750 a1 {Ar

Correct Answer :-

e 1000sqcm /

1000 g7 HAT
7) 1f the mean of “ V2 %% is 4, then the mean of 2xy,2%3,2%5 is___ ./
gfe vt . Frama @ e Cak:i 1 S
1.2
2.4
3.8
4.6

Correct Answer :-

8) What is the number of the diagonals we can draw from one vertex of a polygon with 11 sides? /
11 YoTI3ff a8 TgYS & TP N A g4 fPaq Rl fifya w2 awa &2

1. 8

2. 10

3.9

4.7

Correct Answer :-

9) Which of the following statements is NOT true about whole number? /
Frafafaa & ¥ gof Jensit & dday & H19-a1 Hy= g 78 82

1. 0 is a counting number but not a natural number. /

0 TH VAT AT TEAT &, Afhed TP UIpd TEAT A B

2. The whole number 0 doesn’t have any predecessor. /

o e 0 B B qEadt A A @ B



3. The additive identity of all natural numbers is a whole number. /
T UTpd TEII3T BT ANTcAd TARYAT Th QUT THEAT ol &l

4. The predecessor of the first two digit number is always a single digit number. /
UEel Gl 37pT I HEAT D qaad! FEAT FHAT U IRPT FE&AT B B

Correct Answer :-

« 0 is a counting number but not a natural number. /

0 U IUMAT AT FEAT &, oAfched Th Ul TEAT oTel o

10) Which one of the following statements is true about integer? /
fFafafae % @ $19-91 534 [uife & T4y § 99 32
1. On dividing a negative integer by a negative integer we get a negative integer. /
TH BUNTAS Quifes Bl T BUMTHS QNG J fAUTRIT B TR 89 HUNeTd quiies U gl §
2. On subtracting a negative integer from a positive integer we get a positive integer. /
U YATcHD YOI ¥ Teh FHOMcaAd YOIt P Te W & T GlicAs quifs id g &
3. When a positive integer and negative integer is added we get a negative integer. /
S UHh GATcHS QUi 3R FHOMcHAd quiteh T SET SIIaT & df g3 HOTcaAd Yol urd @idr &

4. On multiplying a negative integer with a positive integer we get a positive integer. /
T FHUNcAD QUITh & Y Th YedTcAd Uit Pl UM I W &H YeATcAD qUIfeh T1d BT B
Correct Answer :-

» On subtracting a negative integer from a positive integer we get a positive integer. /

T YATCHD QUITh & Th FUMcHD YUIich Pl el WX gl Teh UATcHD QI UTH aidm &

11) Which one of the following statements is correct about number? /
FrafafEa # § oH-91 53 ¥e & 46y # 9d g2
1. Nine is a prime number. /
A T T FEAT §
2. There are only 9 prime numbers below 20. /
20§ A daer 9 3T FEAT E
3. Every number is a multiple and factor of itself. /

Ucdd TEAT TIA Pl TH IOTh 3R gedh aldl &l



4. Number of multiples of a given number are finite. /
& T TEA & IR B GE A A B

Correct Answer :-

o Every number is a multiple and factor of itself. /

UeAd TEIT TG H UH IO AR ged ol

12) A train covers a certain distance at a uniform speed. If the train had been 5 km/hr faster it
would have taken 1 hour less than the scheduled time. And if the train had been slower by 20 km/hr,
it would have taken 6 hours more than the scheduled time. Then the distance covered by the train

is: /

TP 31 U QU 91 § Tl g3 U e gt a1 wet 81 afe 2 5 it/ ver A 9ra @ gadt § @Y 98
FRruffa Twa A 1 ge1 w9 At 3 3R afe 37 20 i/ ger Shft nfa & gt 8 @ Fuffa T0a Q6 @2 it
AN &, A ¢GRI 79 Bt W g &
1. 2240 km /
2240 fpal
2.2000 km /
2000 ferat
3. 1050 km /
1050 fehaiy
4. 1080 km /

1080 fRalY

Correct Answer :-

« 1050 km /
1050 fepaf
13)
In the given figure, if #C=40°, then # A and #Bare:
B
A C

& a5 Imfa &, afy £C=40° &, G 2Avd £BE:



50°.90"
100° 40°
40°,100°

90°_50°
4.

Correct Answer :-
40=.100°

14)

In a circle centred at “A°, the angle between AB and AD is 80° where points B and D lie on the
circle. If Clies outside the circle and CB and CD are the two tangents . then the value of angle

BCDis ./

A %% a1 U gcd &, AB Ud AD & &I g1 0T 80° §, gl fag B vd D ded WX
feorg §1 37§ C gcad & g & g § @ CB 3R CD g ¥aei@r g. df &1 BCD
T AT 2l

110°
1.

100e
2.

120e°
3.

4 90

Correct Answer :-

100°

15)

AABC is an isosceles triangle in which AF = AC. Pis a point inside the AAEC such that
APEC( is an equilateral triangle If 24 = 30%then find £ABP.

aﬂgcwmm‘gﬁagaﬁﬁﬂﬁﬂg=ﬂc €1 AABC® 37eY U& f9g P 56 O &
fF apBc ws wAag BRI ©1 AR 24 =30°%, & 24BP 1A R



1.

15°
2.

e
3.

25°
4.

16) 1, ADEF »D=60°,2F=50° then /

ADEF#, »D=60° ,F=50° @r:
1. FE>DF>DE
2. DE=FE=FD
3. DE<DF<EF

4. DE<FE<DF

Correct Answer :-
« DE<FE<DF

17)

Ifthe sum of the squares of zeroes of polvnomial 6x? + x + k is % ,then the value of kis____

AE TGUC 6x7 +x + k F YrIHl & @At o AT = R A kHF AG R

1. —2

5
2. #

3.2

4.3

Correct Answer :-



18)
Find the value of x° -I- — vvhen x—==2.

aax———z% Ff'rx e Er:mfrrrrnﬁﬁl

1.2
2.8
3.6

4.4

Correct Answer :-

19)

[fthe tangents PA and PB from a point P to a circle with centre O are inclined to each other at an
angle of 80° then #POA=_

aﬁwﬁa’gPQ#W"D"ﬁmﬁrwqﬁrﬁﬁwa‘rmﬁPhﬁmPBw—@*{ﬁ
80° & HIvT W Aedr § dr zPoA= |

80
1.

50°
2.

250
o

30°
4,

Correct Answer :-



The average temperature of Mondav, Tuesdav and Wednesdav was 40°C. The average
temperature of Tuesday, Wednesday and Thursdav was 41°C. If the temperature on Thursday
was 42°C, what was the temperature on Mondav?

TIHAGR, HITdR Ud gUaR &1 3Rd d9AT 40°C oT| HIldR, R Ud aT&dR &l
sitea amATT 41°C om IfE AR FT AT9GART 42°C o, df HHGR S a9\ hde
a7

41=C
1.

38°C
2.

40°C
3.

309C
4.

Correct Answer :-

39°C

Find A+ 4D & £B + £C of a cyclic quadrilateral ABCD in which
tA=3x-1 /B=y2 C=2v+6&D=5x+7 1/

UF THT Id8 ABCDH LA +,DTF £B+£C A HY,
S £A=3x-1. /B=vy2 +C=2y+6Wd +D=5x+7 &l

206°, 154°

1.

200°, 160°
2.

175°, 185°
3.

168°, 192°

Correct Answer :-

206°, 154°



An exterior angle of a triangle is 135° and its two interior opposite
angles are equal. Each of these equal angle is:

U TS T G HI0T 135° § TUT $HE 1 I FHIE ST
A §1 58 ¥ UAF HIOT ¢

47 ¥
1.
52 ¥4°
2.
67 ¥4
3.
450
4,

Correct Answer :-
67 ¥°

23)
Find the value of x in the given figure.

0 50/\25
B C

A
/& TS AT H, x FT AT AT

130°

85°

110°

Q0°

4.

Correct Answer :-

85°



24) . . 5
The property that allows to calculate G x i) + (i X i) = ; is= .t

11 3 11
ar Fle @ aor § & (Exi) +(5xﬁ}=5 & IOTAT d IFAT el b

1. Associative property /
e um

2. Distributive property /
facor o1

3. Closure property /
HaReD 01

4. Commutative property /
AR T[0T

Correct Answer :-

« Distributive property /

25)
In AABC, 2C =90° , BC=AC=3y/2 ,then AB= ./

AABC #, 2C=90° , BC=AC=3/2 . dTAB=_

1.5
2.7
3.8

4.6

Correct Answer :-

26
) In a quadnlateral ABCD, #+A+ 2Cistwo times £B+2D_If

£A=140° and £ D=60° , then £C=?
U& Il ABCDH. £A +£C, £B + 24D &7 SR 1
afg £A=140°3R £D=60°dr 2C=?



Correct Answer :-

100°

27)

Geetha had Es 600.She spends% of her monev on note- books, é of the remainder on

stationary items and % of the remainder on cosmetics. How much money is left with her?
AT & 9 600 T | TF Alegd T TS N & -, A@d A W AT F - 3R
WWW&WH%@W%I 39 9 fohaelt i 9w a=r 27

1. Rs 120/
120 *qU
2. Rs 200/
200 ®UU
3.Rs 300/
300 ¥qU
4. Rs 320/

320 %¥qU7

Correct Answer :-
e Rs200/
200 TqU

28) Choose the number not divisible by 11. /
11 & fyuifira 78 g9 arclt S=n &1 9= HI

1.1230321



2. 50169306
3. 902154

4. 6138165

Correct Answer :-

e 1230321

29) Find the sum of perimeters of an equilateral triangle and a regular pentagon whose both side is
4cm. /

T gHaTg YW 3R e Frafia dvays o ufiftry &1 9 3 &, Rrrat S Yo 4 9t §1
1.32cm /
32 @l
2.252 cm /
252 QA
3.36cm /
36 el
4.62cm /

62 QT

Correct Answer :-
e 32cm /
32 e

30) Find the perimeter of the triangle whose sides are 4 meter, 5 meter and 60 cm. /
Ay &1 uftmmg gma #, st Yo 4 ey, 5 ez v 60 It §1
1. 69 meter /
69 X
2. 9.6 meter /
9.6 X
3. 3600 meter /

3600 X



4. 6.9 meter /
6.9 #Hrex
Correct Answer :-

e 9.6 meter /

9.6 #HcX

31) ABCD is a parallelogram and the midpoint of the sides of ABCD are joined to form another
parallelogram PQRS. If the area of PQRS is 20 cmz, then the area of ABCD is ./

ABCD T% JUMIaR Igys & 9UT ABCD & Ywii3ii & weafdg fraes T 31 wamiar agys PQRS &1 fmtor
FRat 81 i PQRS HT &A% d 20 A2 ], Gl ABCD FT &AW 3|

1. 80 cm? / 80 {2
2.40 cm? / 40 QA2
3.100 cm? / 100 {2
4.1600 cm? / 1600 VH2

Correct Answer :-

e 40 cm? / 40 ¥

32) A numeralis the ./

T G g

1. position of an element in a sequence / b 3HJhH ﬁ Uh dcd ﬁ @rﬁ(‘r

2. symbol to represent a number / U J&IT & UTd A Tcd Pl Ui

3. cardinality of a set / Teh Hdzzd T THGl
4. none of the above/mﬁﬁiﬁgaﬁ

Correct Answer :-

« symbol to represent a number / Teh I&IT & YT AT &l Uil

33) There are 100 cookies in a packet. If there is ‘m’ packets, then total cookies can be written as: /

T UPbe T 100 FFIW 21 Afe Thel 3t T8 'm’ B, A FHIoI B Hol JBT Y e o qove 3:



2. 100m
3.100 + m

4. 100-m

Correct Answer :-

34) Algebra is al-gebra =al-jebr wa’'almuqabala. The translation of equivalent words of aljebr and
wa’'al muqabala is and , respectively. /

Req Algebra, al-gebra =al-jebr wa'almuqabala ?I aljebr 3R wa‘al mugqabala & qHadcd Usq] BT
3arg 3R :H

1. restoration , reduction / GeT: T, TCTI

2. restoration , challenging / Gel: 1T, g«“—ﬁ?—ﬁ

3. restoration , proving / Gel: EITU, &G B

4. balancing, solving / I, JHIYH

Correct Answer :-

e restoration , reduction / G- EJ1U, g

35) ‘Gitika’ by Aryabhata is a collection of: /

Vg gRT ¥gd “Wd®dr ______ &1 U WIe ¢

1. Kalakiya — Work on time and measure / PIATPIAT-GHAT 3R AUST T F
2. Problems on Arithmetic / 37ITTOTd UT FHTAT3T

3. Gola (Sphere) / Il (31G)

4. Astronomical tables / TINeiTT dATforehId

Correct Answer :-

e Astronomical tables / M drferehre

36) Micro Teaching technique was brought to India by ./



g&H AT (W51 AIRT) d-ie, URd | FNEIERIER
1. Atkinson / Tefhae

2. B.K . Passi /.. Trdl

3. Allen / TeTeT

4. Anderson / USTHA

Correct Answer :-

e BK.Passi/&.&. grdy

37) Unit plan for teaching mathematics is done in the ./
Tifora fRreror & e g1s TS H P Sl 21

1. post-instructional phase / W-&cja?llcd-iqv YU

2. pre-instructional phase / 9T-31 ojan [cHP I

3. teaching-learning phase / TreToT- 37T TR

4. evaluation phase / divéliqvo‘l Y]

Correct Answer :-

« pre-instructional phase / l;ﬁ-}lcjc\ﬂllcd-lqv Y]

38) Thorndike's ‘Law of Readiness’ is made use of in the / Q«I'Ff@'lw & "dURAT BT
w1 3w o forar Srar g1

1. Unit Plan / 3abTS AT

2. Lesson Plan / UTS ASTAT

3. Home Work / 7& &1

4. Preparation of objectives / 38231 T SRR

Correct Answer :-

e Lesson Plan / UTS ITalell

39) 2x+3y=10 has: /

2x+3y=10 =r:



1. No solution /

PE & A T

2. A unique solution /
e fadw & Bl

3. Only two solutions /

had 2l & &l

4, Infinitely many solutions /
AT T QA S T o
Correct Answer :-

« Infinitely many solutions /

AT T F T3 T o

40) Mensuration integrated with geometry makes drawing of regular shapes introduced to children in
four ways -

1.aesthetic

2. approximation

3.comprehensive

4. association

This is known as .

SR & arr gAfwa dEfafa o g srefagt @ W sare st == F e ) adet
#uﬁaglr-

1. gefaqer

2, giestdes

3. q9sh

4. grgad

FW__ HFEIATACATE

1. Technique of approximation / icedhce Pl dhelldh

2. Technique of mathematization / ITTOTATeRROT T deheileh
3. Technique of quantization / TRHATONAEIOT HY dheilh

4. Technique of ideation / fIROT &Y Theilch

Correct Answer :-



« Technique of quantization / TRFATONHITT T dheilch

41) Choose the pair that is not twin prime. /
39 PIA FT 94T F{ AT WIFT AT G §
1. (91, 93)

2. (59, 61)

3. (41, 43)

4. (101, 103)

Correct Answer :-

« (91,93)

42) If PQ and RS are two equal and parallel chords, the distance from centre to PQ is 5 cm, then the
distance between PQ and RS is: /

g PQ 3R RS & sl 3R wAier Sftar § & @ PQ & g 5@+ 8, a PQ 3R RS & &iw #ir gl
ot &

1.10cm/

10 |4
2.25cm/

25 |4
3.25cm/

2.5 @
4.5cm/

5T
Correct Answer :-
e 10cm/

10 T

43) Which of the following formula holds good for zeros of a quadratic polynomial? /
frfaf@a # @ i a9 gfawa ague & T F T@ aF § aReT wwar §?

1. Product of zeros = coefficient of x/constant term /



[ &I YUH= x BT Ulch/ 3R UG

2. Product of zeros = Constant term/coefficient of x /
YA DI M= 3R UG/ x BT YUl

3. Sum of zeros = -(Coefficient of xz)/coefﬁcient of x /
[ 1 A=~ x? 1 J0D)/ x BT 00

4. Sum of zeros = -(Coefficient of x)/coefficient of x2 /
[ BT GMT=-( x BT )/ x2 FT [0l

Correct Answer :-

+ Sum of zeros = -(Coefficient of x)/coefficient of x2 /

A BT ART=-( x BT UTH)/ x2 &1 0l

44) Pythagoras established the order called ./

USRI AHF ST A TG R

1. Figurative numbers / TR TET
2. Brotherhood / W

3. Pythagoreans / UISATIRY

4. Mathematics / 10T

Correct Answer :-

« Pythagoreans / UTSUTIIRA

45) Vedanga jyotisha in astronomy was compiled in 1200BC by ./

g A # 0T ST F 1200 W qE HA __ g@RT @wfad A = an
1. Aryabhatta / T HCC

2. Sulbakar / gedTehT

3. Bandyama / JSIH

4. Lagadha / ofamdr

Correct Answer :-

» Lagadha / ofamer



46) The length of the arc of a sector is 22 cm and the area of the sector is 231 sq cm then the angle of the
sector is: /

TF @S & 919 1 dar$ 22 FA 3 @z w1 e 231 goF I &, A @z w1 ;o7 [T &

0
L 60

Correct Answer :-
60°

47) The perimeter of two circles are in the ratio 2:3, then the ratio of their areasis ./
ar gat #t IR F7 egura 2:3 B, A 39F &G FT AT gl

1.2:3

2.4:9

3.3:2

4, 9:4

Correct Answer :-
e 4:9

48) A, B, C and D are positioned at (12, 2), (16, 4), (18, 8) and (2a, 6). If the points are joined a rectangle
ABCD is formed, find D’s position. /

AB,C Td D (12,2), (16, 4), (18,8) Ta (2a, 6) W ¥y & I Regat # Fremar sw at v 3maa ABCD
a7 ot &, @Y D iy RRufy s #:X

1. (14, 6)
2. (13, 6)
3. (11, 6)

4. (12, 6)

Correct Answer :-



49) One of the objectives stated below is not measurable and that is: /

AR RUITIERIA A I w AT adr g silvaw B

1. To develop critical thinking. / 3Te<T idel @ [Aaffd &= & forw

2. To identify their shapes in the nature. / Upfd & Jeehl 3MpiaAdl H Ugard i & fow

3. To illustrate equal sets / THTA -deulq\i & ITEdT I & forn

4. To recognize rational numbers. / THTIT TEATHT H UgdlT I & folw

Correct Answer :-

« To develop critical thinking. / 3T&e] Ride @ fawfd & & fow

50) Which of the following is an open-ended question? /
farafaf@d 7 @ sl v ua-uSs weT B2

1. Anusha has a total of 50 Rupees. What are the possible denominations she can have? / 3{Y[ & O Pd

50 ¥
g1 3P U GHIfad Jeaa! 31 81 9ohd &2

2. Area of a square is 400 cm2. What are the possible values for the side of the square?

/ Teh 3T T 81Tl 400 HHI2 | a7 <hY T o Torw Fariad AT &ram &2

3. Prove that the square of an even numbers is even. /ﬁaaﬁﬁﬁmmﬁwaﬁ

JAQATS
4. State Pythagoras theorem / UISUTIRY UHY &l AT |

Correct Answer :-

« Anusha has a total of 50 Rupees. What are the possible denominations she can have? / 3{JUI & U

%d 50 3T
g1 3P U IHIfad Jeaa! 31 81 9ohd &2

51) Which of the following is not under remembering objective? /

Arafaf@d & @ Fia Tohia v & sraeta a8t 3mar &2



1. Measures accurately / AT ATTA HIAT

2. None of the above / 3URIh H & I el
3. Recall term / TIAIONY Qe

4. Recognizes formula / A U dldddl

Correct Answer :-

« Measures accurately / AT AT HIAT

52) ‘Mathematics is the mirror of civilization’ was stated by: /

A0S HIAAT HTSYT &I’ 7% GIRT Fgl IAT:

1. Newton / =gcdl

2. Euclid / JfFeTs
3. Hogben / §lTeT
4. Plato / Tl

Correct Answer :-

. Hogben / TS

53) Choose the correct statement about integers. /
qoifel & v & ¥ Fya F1 999 )
1. Subtraction is commutative for integers /

gerd quie & e fafaasha g g

2. Addition is associative for all integers /

T et quitent & o @l aar R

3. Division is associative for all integers except 0 /
fasstar 0 A SiEa T QUi & fow aead g #

4, Whole number are closed under addition & subtraction /
qot & A 3R gea F HAd 3aeg e €

Correct Answer :-



» Addition is associative for all integers /

Aot w3l uehel & T eeh A 3

54) Which one of the following statements is true about power/exponent? /
fFrafafad o @ S9-31 FY ara/9die & 99y T I 82
1. In 102, 10 is the power and 2 the exponent /
102 &, 10 &1 3R 2 °raw &
2. (5a)IO = 5aP
3. 10000 is the exponential form of 10% /
10000, 10* &T ©Tdih &7 §
4. 216 is the third power of 6 /

216, 6 I AT O &

Correct Answer :-
e 216 is the third power of 6 /
216, 6 &7 JIERT O §

55) Which of the following is the multiplicative identity in the set of whole
numbers? /

fFrafafaa 3 ¥ S19-31 7of Jensit & ag=a § Ui JuEdr 8?2
1.1
2. All whole numbers /
Tl ot geard
3.0

4. -1

Correct Answer :-

56) What will be the sign of the product if we multiply together:

1. 9 negative integers and 4 positive integers



2. 5 negative integers and 5 positive integers

3. 4 negative integers and 7 positive integers

4. 8 negative integers and 5 positive integers

5. (-3), 2n times, n is a natural number. /

gfe g9 38 ST H IO HRd & o YU &I I 71 gH:
1. 9 BUTHSD YUITH 3 4 YIS QUIH

2. 5 BUTHSP QUITH 3R 5 YIS QUIiw

3. 4 BUTHS YUITP 3R 7 YIS QUIH

4. 8 BUTHP YU 3R 5 YTHS YUITD

(-3), 2n SR, n TS UIHd =T |

1. i — positive, ii — negative, iii — negative, iv — positive, v —negative /

i — YATHD, ii — BUMHD, iii — BUTHB, iv — YD, v — BUTHD

2. i — positive, ii — negative, iii — negative, iv — positive, v — positive /

i — ¢FTHD, ii — BUMTHD, i — BUTHD, iv — YTHD, v — YATHSD

3. i — negative, ii — negative, iii — positive, iv — positive, v —positive /

i — BUNHD, ii — BUNHD, iii — YATHD, iv — YITHD, v — YATHD

4. i — negative, ii — negative, iii — negative, iv — positive, v —positive /

i — BUMHD, ii — BUMHD, iii — BUTHD, iv — YAIHD, v — YTHD

Correct Answer :-

e i—negative, ii — negative, iii — positive, iv — positive, v —positive /

i — BUTED, ii — BUTHSD, iii — YTHD, iv — YD, v — YD
57) Express 15625 as a power of 5. / 5 % °UTd ¥4 § 15625 &I oG P |
1.4°
2.5°
3.5°
4. 6°

Correct Answer :-

o 5b



58) When N is a set of all natural numbers, W the set of all whole numbers, Z the set of all real
numbers, then which of the following is true?/

gfe N Gt wrpa wemsit @1 te wg=y 8, w 9 quifet @1 wgwa @, z 9t arafas Sensit &1 au=y B,
at frfafEa o @ s9-ar g 82

RcZcWcN
1.

WcNcRcZ

3 NcZcWckR

NcWcZcR
4,

Correct Answer :-
NcWcZcR

59) A(3,5) and B(-3,5) are the end points of the diameter of a circle. Find the centre of the circle. /
A(3,5) Td B(-3,5) T g9 & 9 & Sifaw g §1 990 &1 $x 1 B9

1. (5,0)

2. (6,5)

3. (3,0)

4. (0,5)

Correct Answer :-

60) If one zero of the quadratic polynomial is x*2+3x+k is 2, then the value of k=

gfe fgaTd 9gUe x~ 2+ 3x+k FT TS YLAD 2 8, @ k BTHM = |
—10

1.



Correct Answer :-



